\i/ Exam Recommend!! Get the Full NSE7_EFW-6.4 dumps in VCE and PDF From SurePassExam
Ll SurePass https://www.surepassexam.com/NSE7_EFW-6.4-exam-dumps.html (115 New Questions)

Passing Certification Exams Made Easy

Fortinet

Exam Questions NSE7_EFW-6.4
Fortinet NSE 7 - Enterprise Firewall 6.4

visit - https://www.surepassexam.com



\l;/ Exam Recommend!! Get the Full NSE7_EFW-6.4 dumps in VCE and PDF From SurePassExam
I ISure PHSS https://www.surepassexam.com/NSE7_EFW-6.4-exam-dumps.html (115 New Questions)

NEW QUESTION 1
View the exhibit, which contains the output of diagnose sys session stat, and then answer the question below.

Which statements are correct regarding the output shown? (Choose two.)

A. There are 0 ephemeral sessions.

B. All the sessions in the session table are TCP sessions.

C. No sessions have been deleted because of memory pages exhaustion.

D. There are 166 TCP sessions waiting to complete the three-way handshake.

Answer: AC

Explanation:

https://kb.fortinet.com/kb/documentLink.do?externallD=FD40578

NEW QUESTION 2

Refer to the exhibit, which contains partial output from an IKE real-time debug.

Which two statements about this debug output are correct? (Choose two.)

A. The remote gateway IP address is 10.0.0.1.

B. The initiator provided remote as its IPsec peer ID.

C. It shows a phase 1 negotiation.

D. The negotiation is using AES128 encryption with CBC hash.

Answer: BC

NEW QUESTION 3

Examine the following partial output from a sniffer command; then answer the question below.
What is the meaning of the packets dropped counter at the end of the sniffer?

A. Number of packets that didn’t match the sniffer filter.

B. Number of total packets dropped by the FortiGate.

C. Number of packets that matched the sniffer filter and were dropped by the FortiGate.

D. Number of packets that matched the sniffer filter but could not be captured by the sniffer.
Answer: D

Explanation:

https://kb.fortinet.com/kb/documentLink.do?externallD=11655

NEW QUESTION 4

View the exhibit, which contains the output of a real-time debug, and then answer the question below.

Which of the following statements is true regarding this output? (Choose two.)

A. This web request was inspected using the root web filter profile.
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B. FortiGate found the requested URL in its local cache.
C. The requested URL belongs to category ID 52.
D. The web request was allowed by FortiGate.

Answer: BC

NEW QUESTION 5
View the exhibit, which contains a partial web filter profile configuration, and then answer the question below.

Which action will FortiGate take if a user attempts to access www.dropbox.com, which is categorized as File Sharing and Storage?

A. FortiGate will exempt the connection based on the Web Content Filter configuration.

B. FortiGate will block the connection based on the URL Filter configuration.

C. FortiGate will allow the connection based on the FortiGuard category based filter configuration.
D. FortiGate will block the connection as an invalid URL.

Answer: B

Explanation:
fortigate does it in order Static URL -> FortiGuard — > Content -> Advanced (java, cookie removal..)so block it in first step

NEW QUESTION 6
Which configuration can be used to reduce the number of BGP sessions in an IBGP network?

A. Neighbor range
B. Route reflector
C. Next-hop-self

D. Neighbor group

Answer: B

Explanation:

Route reflectors help to reduce the number of IBGP sessions inside an AS. A route reflector forwards the routers learned from one peer to the other peers. If you
configure route reflectors, you dont’ need to create a full mesh IBGP network. All clients in a cluster only talck to route reflector to get sync routing updates. Route
reflectors pass the routing updates to other route reflectors and border routers within the AS.

NEW QUESTION 7

An administrator has configured two FortiGate devices for an HA cluster. While testing HA failover, the administrator notices that some of the switches in the
network continue to send traffic to the former primary device. The administrator decides to enable the setting link-failed-signal to fix the problem.

Which statement about this setting is true?

A. It sends an ARP packet to all connected devices, indicating that the HA virtual MAC address is reachable through a new master after a failover.
B. It sends a link failed signal to all connected devices.

C. It disabled all the non-heartbeat interfaces in all HA members for two seconds after a failover.

D. It forces the former primary device to shut down all its non-heartbeat interfaces for one second, while the failover occurs.

Answer: D

NEW QUESTION 8

View the exhibit, which contains the output of a diagnose command, and the answer the question below.

Which statements are true regarding the Weight value?

A. lts initial value is calculated based on the round trip delay (RTT).
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B. Its initial value is statically set to 10.
C. Its value is incremented with each packet lost.
D. It determines which FortiGuard server is used for license validation.

Answer: C

NEW QUESTION 9
Refer to exhibit, which contains the output of a BGP debug command.

Which statement explains why the state of the 10.200.3.1 peer is Connect?

A. The local router is receiving BGP keepalives from the remote peer, but the local peer has not received the OpenConfirm yet.
B. The TCP session to 10.200.3.1 has not completed the 3-way handshake.

C. The local router is receiving the BGP keepalives from the peer, but it has not received a BGP prefix yet.

D. The local router has received the BGP prefixes from the remote peer.

Answer: B
Explanation:
BGP neighbor states and how they change:« Idle: Initial states Connect: Waiting for a successful three-way TCP connectione Active: Unable to establish the TCP

sessions OpenSent: Waiting for an OPEN message from the peers OpenConfirm: Waiting for the keepalive message from the peere Established: Peers have
successfully exchanged OPEN and keepalive messages

NEW QUESTION 10

A FortiGate is configured as an explicit web proxy. Clients using this web proxy are reposting DNS errors when accessing any website. The administrator executes
the following debug commands and observes that the n-dns-timeout counter is increasing:

What should the administrator check to fix the problem?

A. The connectivity between the FortiGate unit and the DNS server.

B. The connectivity between the client workstations and the DNS server.

C. That DNS traffic from client workstations is allowed by the explicit web proxy policies.

D. That DNS service is enabled in the explicit web proxy interface.

Answer: A

NEW QUESTION 10

Refer to the exhibit, which contains the debug output of diagnose dvm device list.
Which two statements about the output shown in the exhibit are correct? (Choose two.)
A. ADOMs are disabled on the FortiManager

B. The FortiGate configuration is in sync with latest running revision history.

C. There are pending device-level changes yet to be installed on Local-FortiGate.

D. The policy package has been modified for Local-FortiGate.

Answer: BC

NEW QUESTION 11

View the exhibit, which contains the output of a debug command, and then answer the question below.

Which of the following statements about the exhibit are true? (Choose two.)

A. In the network on port4, two OSPF routers are down.
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B. Port4 is connected to the OSPF backbone area.
C. The local FortiGate's OSPF router ID is 0.0.0.4
D. The local FortiGate has been elected as the OSPF backup designated router.

Answer: BC

NEW QUESTION 16
View the exhibit, which contains the output of a BGP debug command, and then answer the question below.

Which of the following statements about the exhibit are true? (Choose two.)

A. The local router's BGP state is Established with the 10.125.0.60 peer.

B. Since the counters were last reset; the 10.200.3.1 peer has never been down.
C. The local router has received a total of three BGP prefixes from all peers.

D. The local router has not established a TCP session with 100.64.3.1.

Answer: AD

NEW QUESTION 19
View these partial outputs from two routing debug commands:

Which outbound interface will FortiGate use to route web traffic from internal users to the Internet?

A. Both portl and port2
B. port3
C. portl
D. port2

Answer: C

NEW QUESTION 20
Which of the following statements is true regarding a FortiGate configured as an explicit web proxy?

A. FortiGate limits the number of simultaneous sessions per explicit web proxy use

B. This limit CANNOT be modified by the administrator.

C. FortiGate limits the total number of simultaneous explicit web proxy users.

D. FortiGate limits the number of simultaneous sessions per explicit web proxy user The limit CAN bemodified by the administrator

E. FortiGate limits the number of workstations that authenticate using the same web proxy user credentials.This limit CANNOT be modified by the administrator.

Answer: B

Explanation:

https://help.fortinet.com/fos50hlp/52data/Content/FortiOS/fortigate-WAN-opt-52/web_proxy.htm#Explicit2

The explicit proxy does not limit the number of active sessions for each user. As a result the actual explicit proxy session count is usually much higher than the

number of explicit web proxy users. If an excessive number of explicit web proxy sessions is compromising system performance you can limit the amount of users
if the FortiGate unit is operating with multiple VDOMs.

NEW QUESTION 24
Refer to the exhibit, which contains the output of a BGP debug command.
Which statement about the exhibit is true?

A. The local router has received a total of three BGP prefixes from all peers.
B. The local router has not established a TCP session with 100.64.3.1.
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C. Since the counters were last reset, the 10.200.3.1 peer has never been down.
D. The local router BGP state is OpenConfirm with the 10.127.0.75 peer.

Answer: B

NEW QUESTION 26
Which two conditions must be met for a statistic route to be active in the routing table? (Choose two.)

A. The link health monitor (if configured) is up.

B. There is no other route, to the same destination, with a higher distance.
C. The outgoing interface is up.

D. The next-hop IP address is up.

Answer: AC

NEW QUESTION 29
Which two statements about FortiManager is true when it is deployed as a local FDS? (Choose two.)

A. It caches available firmware updates for unmanaged devices.

B. It can be configured as an update server, or a rating server, but not both.
C. It supports rating requests from both managed and unmanaged devices.
D. It provides VM license validation services.

Answer: AD

NEW QUESTION 31
View the exhibit, which contains the output of a diagnose command, and then answer the question below.

Which statements are true regarding the output in the exhibit? (Choose two.)

A. FortiGate will probe 121.111.236.179 every fifteen minutes for a response.
B. Servers with the D flag are considered to be down.

C. Servers with a negative TZ value are experiencing a service outage.

D. FortiGate used 209.222.147.3 as the initial server to validate its contract.

Answer: AD

Explanation:
A — because flag is Failed so fortigate will check if server is available every 15 minD-state is | , contact to validate contract info

NEW QUESTION 32
View the global IPS configuration, and then answer the question below.

Which of the following statements is true regarding this configuration?

A. IPS will scan every byte in every session.

B. FortiGate will spawn IPS engine instances based on the system load.

C. New packets will be passed through without inspection if the IPS socket buffer runs out of memory.

D. IPS will use the faster matching algorithm which is only available for units with more than 4 GB memory.

Answer: A

NEW QUESTION 36
Examine the output of the ‘get router info ospf interface’ command shown in the exhibit; then answer the question below.

Which statements are true regarding the above output? (Choose two.)

A. The port4 interface is connected to the OSPF backbone area.

B. The local FortiGate has been elected as the OSPF backup designated router.
C. There are at least 5 OSPF routers connected to the port4 network.

D. Two OSPF routers are down in the port4 network.

Answer: AC

Explanation:

on BROADCAST network there are 4 neighbors, among which 1*DR +1*BDR. So our FG has 4 neighbors, but create adjacency only with 2 (with DR and BDR). 2
neighbors DRother (not down).

NEW QUESTION 37
Which statement is true regarding File description (FD) conserve mode?

A. IPS inspection is affected when FortiGate enters FD conserve mode.
B. A FortiGate enters FD conserve mode when the amount of available description is less than 5%.
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C. FD conserve mode affects all daemons running on the device.
D. Restarting the WAD process is required to leave FD conserve mode.

Answer: B

NEW QUESTION 39
A FortiGate device has the following LDAP configuration:

The LDAP user student cannot authenticate. The exhibit shows the output of the authentication real time debug while testing the student account:

Based on the above output, what FortiGate LDAP settings must the administer check? (Choose two.)

A. cnid.

B. username.
C. password.
D. dn.

Answer: BC

Explanation:
https://kb.fortinet.com/kb/viewContent.do?externalld=13141

NEW QUESTION 43

When using the SSL certificate inspection method to inspect HTTPS traffic, how does FortiGate filter web requests when the client browser does not provide the

server name indication (SNI) extension?

A. FortiGate uses the requested URL from the user’s web browser.

B. FortiGate uses the CN information from the Subject field in the server certificate.

C. FortiGate blocks the request without any further inspection.
D. FortiGate switches to the full SSL inspection method to decrypt the data.

Answer: B

NEW QUESTION 45

Which two tasks are automated using the Install Wizard on FortiManager? (Choose two.)

A. Installing configuration changes to managed devices

B. Importing interface mappings from managed devices

C. Adding devices to FortiManager

D. Previewing pending configuration changes for managed devices

Answer: AD

NEW QUESTION 49
In which two states is a given session categorized as ephemeral? (Choose two.)

A. A TCP session waiting to complete the three-way handshake.
B. A TCP session waiting for FIN ACK.

C. A UDP session with packets sent and received.

D. A UDP session with only one packet received.

Answer: BC
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NEW QUESTION 50

View the exhibit, which contains the output of a BGP debug command, and then answer the question below.

Which of the following statements about the exhibit are true? (Choose two.)

A. For the peer 10.125.0.60, the BGP state of is Established.
B. The local BGP peer has received a total of three BGP prefixes.

C. Since the BGP counters were last reset, the BGP peer 10.200.3.1 has never been down.

D. The local BGP peer has not established a TCP session to the BGP peer 10.200.3.1.
Answer: AD

NEW QUESTION 51

View the exhibit, which contains a session entry, and then answer the question below.
Which statement is correct regarding this session?

A. Itis an ICMP session from 10.1.10.10 to 10.200.1.1.

B. It is an ICMP session from 10.1.10.10 to 10.200.5.1.

C. Itis a TCP session in ESTABLISHED state from 10.1.10.10 to 10.200.5.1.

D. Itis a TCP session in CLOSE_WAIT state from 10.1.10.10 to 10.200.1.1.

Answer: B

NEW QUESTION 55

An administrator cannot connect to the GIU of a FortiGate unit with the IP address 10.0.1.254. The administrator runs the debug flow while attempting the

connection using HTTP. The output of the debug flow is shown in the exhibit:

Based on the error displayed by the debug flow, which are valid reasons for this problem? (Choose two.)

A. HTTP administrative access is disabled in the FortiGate interface with the IP address 10.0.1.254.

B. Redirection of HTTP to HTTPS administrative access is disabled.
C. HTTP administrative access is configured with a port number different than 80.
D. The packet is denied because of reverse path forwarding check.

Answer: AC

NEW QUESTION 58

View the exhibit, which contains the output of diagnose sys session list, and then answer the question below.

If the HA ID for the primary unit is zero (0), which statement is correct regarding the output?
A. This session is for HA heartbeat traffic.

B. This session is synced with the slave unit.

C. The inspection of this session has been offloaded to the slave unit.

D. This session cannot be synced with the slave unit.

Answer: B

Passing Certification Exams Made Easy

visit - https://www.surepassexam.com



\l;/ Exam Recommend!! Get the Full NSE7_EFW-6.4 dumps in VCE and PDF From SurePassExam
I ISure PHSS https://www.surepassexam.com/NSE7_EFW-6.4-exam-dumps.html (115 New Questions)

NEW QUESTION 60
Refer to the exhibit, which contains the partial output of a diagnose command.

Based on the output, which two statements are correct? (Choose two.)

A. Anti-replay is enabled.

B. DPD is disabled.

C. Remote gateway IP is 10.200.4.1.
D. Quick mode selectors are disabled.

Answer: AC

NEW QUESTION 64
Which two configuration settings change the behavior for content-inspected traffic while FortiGate is in conserve mode? (Choose two.)

A. IPS failopen
B. mem failopen
C. AV failopen
D. UTM failopen

Answer: AC

NEW QUESTION 66
View the exhibit, which contains a screenshot of some phase-1 settings, and then answer the question below.

The VPN is up, and DPD packets are being exchanged between both IPsec gateways; however, traffic cannot pass through the tunnel. To diagnose, the
administrator enters these CLI commands:

However, the IKE real time debug does not show any output. Why?

A. The debug output shows phases 1 and 2 negotiations onl

B. Once the tunnel is up, it does not show any more output.

C. The log-filter setting was set incorrectl

D. The VPN's traffic does not match this filter.

E. The debug shows only error message

F. If there is no output, then the tunnel is operating normally.

G. The debug output shows phase 1 negotiation onl

H. After that, the administrator must enable the following real time debug: diagnose debug application ipsec -1.

Answer: B

NEW QUESTION 68

Refer to the exhibit, which shows a FortiGate configuration.

An administrator is troubleshooting a web filter issue on FortiGate. The administrator has configured a web filter profile and applied it to a policy; however, the web
filter is not inspecting any traffic that is passing

through the policy.
What must the administrator change to fix the issue?
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A. The administrator must increase webfilter-timeout.
B. The administrator must disable webfilter-force-off.
C. The administrator must change protocol to TCP.

D. The administrator must enable fortiguard-anycast.

Answer: D

NEW QUESTION 69
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